L
% s Q's daughter) 0 is R's mother. g is R'8
) :r:ther. How i8 S related to P 7
(A) Ggrandfather
(B) Brother
(C) Son
(D) Father

; ’ - q
2, It is the organised aggregale c‘:nf 11.1cimdua:ﬂ
who interact without giving significance

hierarchy
(A) Reference groups (B) Horizontal groups

(C) Vertical groups (D) None of the above

3. The H.C.F, of two expressions p and q is 1.

Their L.C.M. is
A) = (B) pq
Pq 5
- + T
(C) (P-ql (D) (p+a)
4. Pacific Step Up is the Forum related to
(A) USA (B) Japan
(C) Australia (D) India

5. Animals are named as per

(A) International Zoological Nomenclature
Committee

(B) International Zoological Nomenclature
Organisation

(C) International Zoological Nomenclature
Agency

(D) International Code of Zoological

- Nomenclature

6. A isthe functionality expansion
:gf memory token, incorporating one or more
Integrated circuits into the token itself,

(A) Smart token
(C) System token

(B) Digital token
(D) Memory token

7. F?nnulﬂ One F1-British Grand Prix.

uit, Silverstone Britain
’ : | whi
was held in Jyjy 18, 2021 was won by 3

(A) Mercedeg’ Lewig Hamilton
(B) Tekwilgon

(C) Robert DYgjjyy

(DJ Bhﬂ‘b’ih D'ﬂﬂzﬂ

M24

Q.ﬂgﬂﬁi: Qr Rﬁ:ﬁt’ S’ thnit &m
L Damne ¥
(A) gral
(B) W
c) 9
) fore!
ﬁmﬂmwg’ﬁ%ﬁm
? mﬁmmwﬁ%
(C) :;;wfmwfﬂ' (D) ﬁ#w:{ﬂ
" ﬁﬁpﬁmqmﬂWWﬂmla,ﬁmm
g e
A o= (B) pq
pq
(C) (p-9) (D) (p *+q
4. ARifE WY AT _ H eIt Brm g
(A) L E.T, (B) ST
(C) sTeferam (D) WRe

5. WAl % AW foFdeh STER W@ I § 7
(A) SFEisgi sToft FraeRtor wfufy
(B) s SToft HreveRtor FTeA
(C) STaRTS SToft revereor wareft

(D) STl AT i SR e

e 8§ € w1 i

aRTel TR e ATy A R
Wﬁﬁﬁl{%i

(A) W2 Ty
(C) Rreew Iy

6.




rom the given answer fi , sel
;Cbg;&ﬂrﬂl:imh the qucatiuguf:;;ar:ﬁ:ﬁ&ggnj 8. @ I aTl?ﬁFﬂ # A, T8 aqTqﬁl gﬁru, e oA
- ' gt g & /wfea # |
1 =
(A} f (B) (A) f B) ‘
©) A (D) LF_ (C) Z (D) 'QFT
o} '
Which Sm:ticf:rll of IT P:c?, ZDQO deals with 9, T A, arfufram, ZGUD%WW‘%WWE{
legal recognition of digital signature ? ) s A waed @ 7
(A) Section 5 (B) Section 6 (A) €TT S (B) 9T 6
(C) Section 4 (D) Section 3 (C) YT 4 (D) ¥ 3
Who was the author of “The Spirit of Laws” ? 10, “d fRf i wiw" o TrE aAE T
(A) Montesquieu (A) AT,
(B) Rousseau (B) &4
(C) Diderot (C) T
(D) Voltaire (D) FeedT
What is the maximum number of pieces into 11, e o9 Y 19 FRET T R gFsl T el T
which a cube can be cut into 19 cuts ? HqHa1 S |
(A) 316 (B) 412 (A) 316 (B) 412
(C) 392 (D) 145 (C) 392 (D) 145
. . rERTETE 98 § —— T T EreEd M
i Microsoft Word ———— 18 & Metle et o @ TR, S TR
presenting information in an organized and qferl :;_*(ﬂﬂ = firg o & gt @
attractive manner that displays textin @& grid A & w
of rows and columne of cells. (A) =T (B) T
(A) Chart EE]) ?ﬂfre (c) ad o1 (D) R
e j moting communal | 13 Wﬁmm mﬂﬁ@ma WI@“W"F\
1t has helped 11 pro - egration AT T T yaifurer wad 3
harmony and in keeping national INteB 3 (D) 3
at the forefront, (A) AT (B) (A P
(A) Imperialism (B) Both ‘f”"u““d D) () v (D) Sfgefs
() Secularism (D) Orientalism i) ¥ oawm e b
i vamedy” 14, " |tﬂ|iq ' Eﬂlli
Who was the author of ‘DVIR® "t (A) QAT (B)
(A) Romances (B) Plato D) TR el
M24

(C) Aristotle (D) Dante Allghierl




( the unit cell 18

18, Density 0 VN
Ma’ B) d= ___;__a_
(A) d= —;ﬁ”
x D) d=
a 1IN, = 3N
=S a
©) d="— -
' 1S
16. The Oath of Office to president 1
" administered by ”
Lok Sabha |
(A) Speaker of . of India
(B) Chief Justice of Supreme Cour
(C) Prime Minister
(D) Vice President
' : the squarc of
. If @ number 18 subtractled from l:
o Iits one-half, the result 18 48. The square roo
of the number 18
(A) 6 (B) S
(C) 4 (D) 8
18. s not the option of the alignment tab.
(A) Left (B) Justify
(C) Middle (D) Right
19. From which language is the term “human”
derived ? |
(A) Sanskrit (B) Persian
(C) Latin (D) Greek
20. Find the missing term in the following series.
1A2, 3C4, 7G8,
(A) 13P14 (B) 14015
(C) 16P17 (D) 15016
21. Who among the following Indian born person

__has been appointed as Chief Economist of the
¥ 17, International Monetary Fund ?
#=8 (A) Shankar Acharya

(B) Bina Agarwal
(C) Gita Gopinath
(D) None of the above

22. In Haryana, ICAR-National Bureau of Animal

Genetic Resources (NBAGR) located in
(A) Delhi

(B) Karnal
©) Jind (D) Hisar
43, Morphologicall
P Y and genetic ni
Individuals are calledg oy W
(A) Twins B) Traits
) Specimens (D) Clones
M24

®
.a-(qﬁ‘[ﬂ"ﬁ:a
15, ﬁrg Maﬂ (B} dHZMT!
(A) dﬁ;ﬁ: a
%N, D) d=2M
(C) d—*"a';l;,'f“ - a’N,
Wﬁ@ﬂﬂmwmmwm
16. 5 Fhﬁmaa:ﬂwaﬁ .
(B)m#qﬁam HET iy
(C) ﬂmﬂﬁ
(D) IAE
wﬁﬁrﬁﬁwaﬁmaﬂ%aﬁ%mmm
M o 48 g & HEE TS R
©) 4 P1 %
N e R A I
18. g e il
(C) Twed (D) T%L
19. “Em‘rr"mﬁaf‘ﬂrmmﬁ%mw%?
(A) G (B) ORI
(C) wifed (D) UTe

20. FrfRan saen # et 92 1 J1a R |
1A2, 3C4, 7GS8,

(A) 13P14 (B) 14015
(C) 16P17 (D) 15016
21,  F=feited 3 & fora st e 3 safeRy = S
P v o 3 3 g Ry ?
%@%w Yo e
®(B) S 3R
(C) irerm Tiftmer
(D) 370 | | ¥ et
22, Wﬂﬁ,w@_;ﬁ_q‘m._mmaﬁmw
e et (.o 0 oh o) et R
(A) Rt B) wom
iy (D) fewmw
3. SR IR SR v & e R
_FEem #
(A) It B) o
() TR D) W

24

28

€

2

21

2



:

The port which is known as ‘Queen of the
Arabian Sea’

(A) Marmagoa
(B) Mangaluru |
(C) Kochi

(D) Mumbai

§. The branch of Geography which is devoted
to the study of landforms, their evolution and

related processes 18
(A) Ecology

(B) Geomorphology
(C) Hydrology

(D) Climatology

Tenure of judges of International Court of

6.
Justice 18
(A) 6 years (B) 8 ycars
(C) 9 years (D) S years

7. In Microsoft Office Word, 2003
a shortcut key to select a entire document.

(A) Ctrl + A (B) Shift + Up
(C) Shift + Home (D) Shift + End

The output per unit of variable input is

18.
(A) Average product
(B) Marginal product
(C) Average cost
(D) Total product
19. If you deduct depreciation from the Gross

Investment, WeE will get

(A) Final goods (B) Net Investment
(C) GDP (D) None of the above

100 books is equal to the

30. Cost price of
oks. The gain or loss

selling price of 60 bo
percentage will be

(A) 66%% (B) 66%
C) 66>% (D) 66=%
4 3

31. Which of the following is types of electronic

payment mode ?
. (A) credit card

(C) e-cash

(B) e-cheque
(D) all the above

CMMS - 85

24, nmﬁrﬁ'mmﬁm'tmﬁm

28, Tﬁaﬁumﬁa@tm,mmm

wrfira i ¥ arems & farg wmfifa B

26.

wfeg 7E, 2003 § —— FYO T

AR AR AL
i .
(B) Shift + Up %

(A) Ctrl + A
(C) Shift + Home (D) Shift + End®:

ng. T 3TTA 1w geT i

27.

20, T AT & YT T Y A wH

(B) fraw faw

(C) si.&.q. (D) 3 ¥ & H13 TE

100 gl 1 HT 4 60 Th! F fashd T4 &

30,
mﬂtlw“mmﬁmwm?
(A) 66%% (B) 66%
(C) 665% (D) 662 %
4 3
31. ﬁnﬁiﬁﬂﬂﬁmwaﬁ#ﬂim
aa-a k!
(A) ¥ e (B) §-9%
(C) §-&%w (D) Jaat wvfl

M24



of agriculture cal
Jture 18

32, Thetlypet
Burn' agricu

(A) Intensive farming
(B) Sedentary farming

(C) Shifting farming
(D) None of the above

i

33, GDP stands for
(A) Gross Dollar Price

(B) Gross Domestic Price

(C) Gross Domestic Product

(D) None of the above

a4. The following question is pased on the serics ¢

AECDEFGHIJKLI%;
NDPQRSTuvwa

given series interchange

If the letters of the
s the place of Z and Z

positions, so that A take
takes place of A and 8o on. What will be the
13 Jetter from the right ?
(B) O
(D) M

aeg A L
(C) N

38. The Election Commissioner can continue in
office till the age of
(A) 62
(C) 58

(B) 65
(D) 60

36, Tht. Right to Property is simple legal right In
Indian Constitution under Article

(A) 300 A B) 326 A
i) 408 (D) 243

37. Deflation may be defined as a state of falling
prices but not

(A) Fall in prices

(B) No change in prices
(C) Zero prices

(D) Rise in prices

38, How much angle does an hour hand cover in
17 minutes ?

(A) 12.5°
(C) 10°

(B) 8,5¢
(D) 17°

M24

™y
T
(A W@?ﬂﬁeﬂ 39. In this
o e
C) @?ﬂﬁﬁm&ﬁm Btlatgm
D) gt # 3 F A 2 Son
5 A TS T
' 11, 8
() Tfel SR ST A} On
B) ot SRR T {rg} e
©) pfe AR ST (D) On
(D) g # @ 0% T 40. 15{11&:;
: pou ol 1
34, PRt ST T8 TEST SRR, it
@ PET ALy A) 16
i nielolhale, ©) 15
ot ¥ P % STER T N T T g
A#WWZWWWZ%W“MW - :E:,:f,:
a7 oft 3elt ST B, AR 139 A Ay not adj
oy B) O Then,
(C) N (D) M the follc
(A) Sul
(C) Mo
35, YO YR AT MY AR RRTATTE 45 opg s,
(A) 62 (B) 65 (A) Fire
(B) Firs
(C) 58 (D) 60 (C) File
(D) File
36, Wity v & vy aede H AW ERAY 43, The ba
WW‘Eﬁ srftrpm B 7 creation
(A) 300 A (B) 326 A (A) RN
(C) 268 (D) 243 (B) mR!
10 (C) Do
37, ity o et § firae :ﬂﬂ*ﬁﬂg SR
B 'Qf’(mﬁﬁ R 3 !T@ 44, What is
A) T Py (A) 6 St
8
B) e & wnf e el e
(C) [y (C) Sta:
(D) u@ﬁﬁ (D) 4 St
38, y ' 45, Find od
e eh g 17ﬁqzﬁmqamw*‘ﬁ! 14,0,
& 12,5 u O 16
(B) 8.5
(C) 100
) 10 D) 17°




In this question, two statements are given
fD“DWEd. by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements :
1. Some matters are elements. L)
2. Some matters are not molecules.

Conclusions : _
[. All elements are matter.
II. Some molecules are elementas.
(A) Only conclusion 1 follows
(B) Neither conclusion 1 nor 11 follows
(C) Both conclusions 1 and 11 follow

(D) Only conclusion 1l follows

15 litres of a mixture contains 20% alcohol
aqd th:: rest water. If 3 litres of water be
mixed in it, the percentage of aleohol in the
new mixture will be

2 1
(A) 163 (B) 185

(C) 15 (D) 17

Five girls are sitting in a row. Rashi is not
adjacent to Sulekha or Abha. Anuradha is
not adjacent to Sulekha, Rashi is adjacent to
Monika. Monika is at the middle in the row,
Then, Anuradhe is adjacent to whom out of

the following ?
(A) Sulekha
(C) Monika

(B) Abha
(D) Rashi

FCFS stands for

(A) First-Come-Fast-Served
(B) First-Come-First-Served
(C) File-Come-Fast-Served
(D) FileﬁCome-FirﬂL-S{:wcd

. The basic event in reproduction 18 the

creation of a copy of |
(A) RNA (Ribo Nucleic Acid)

(B) mRNA
] (C) Double Stranded RNA |
5 (D) DNA (Deoxyribo Nucleic Acid)

4. What is Heterostemony ?
(A) 6 Stamens of equal length
(B) Stamens attached to perianth in equal

length
(C) Sta%m:na of different lengths

(D) 4 Stamens of equal length

5. Find odd number out of the following
1, 4,9, 16, 19, 36, 49, 64, 81

39.

CMMS - S5

e g 3, 2 aper Fe e ¥ foren a2 Premd Ry e |
%ﬁﬁﬁﬁﬁQGﬁﬁM@ﬁW%ﬁEﬁ%\
helA . y X
] 1. 33 Tl a8 |
A T of 'qfﬁ4g i
b e

1, aof) e et §

1, 7w s aea ¥ |

(A) gmﬁmétm@mmt

() 7 Fromd 17 11 TgE e
(©) Al fed 1 3w 11 rgE F ¥
(D) Faet Frerd 11 FHT Fw R

15 et 3 Rrorm A 20% srerEer A TR O Y |
o g 3 elher ur afv fren R s, @ =T B
T areIerel B uitnTe B

(A) 16?-5 (B) 13%
(C) 15 (D) 17

a1, g erehrl oh A 4 ¥ | e m s F T

A roft et & & | s, gevEn 6w H A AR Y |
e, e % o 4§ | A AR F A AR

A srpou P 3 R F o A Y

(A) goET (B) T
(C) W (D) TR

42, TH.WTHTE, F A §
(A) FE - -BTER -V
(B) & - - -
(C) Ve~~~
(D) IEE -0 ~H - T
43, dEreaRd snvregd wen sy s fmior R
(A) ST, (T R 30 )
(B) WG,
(C) T WIE AT TH.T,
(D) @, ( Rearteedorgsh =yfies )

44, FARAMNFNY ?
(A) THT T ¥ 6 WA
(B) wwr werd ¥ Ady AP AR
(€) Fifra ward & w

. (D) WA T & 4 R

45, Frefufas 8 Q o wEm @ g |

L 1,4,9,016, (19,36, 49, 64, 81
Cv (A9 W gy 49

40.

(A) 19 (B) 49
(C) 16 (D) 9

e —

(C) 16 (D) 9

102713g

163951

02

M24



47.

48,

49.

50.

51.

regiatance 1007
(A) 142.7 M
(C) 122.7m

' templ
Which of the following Lhcl?ry E;LFE ﬁnd
to explain large-gcale relations

answer fundamental questions aui}; E;E ,
why societies form and why they €

(A) Grand theories

(B) Social theories

(C) Structural theories

(D) Paradigm theories

Which of the following is not a tab under
Format AutoShape dialog box ?

(A) Position (B) Callouts

(C) Web (D) Colors and lines

The Companies Act, 2013 focusses on the
commission of the fraud rather than the
to the affected parties,

(A} Resulting loss (B) Capturing

(C) Punishment (D) None of the above

Read the data given below

R fﬂHUWingquggtiﬂTd based on it

Six Friends Priya Qui
| ’ nﬂ_}', R
Twinkle and Varish oy

circular table,

* All of them are fa
of the circle,

* Twinkle is not sit
Shwetha byt 80

cing
€ lowargg the Centre

ting betwe
en Qu;
meone ¢lgg f Qu;}n'&}’ and

. . fom t
Priya sits 10 the left of Visigi the Eroyp,
14,

Keena is fourth 1o the r

1ght of p..
Whﬂ 18 Ell[lﬂg 18 th ]"]ghl va ‘Prl}'ﬂ*
b oM T iae t
ink]
{le (D] Nnnﬂ of th
€ aboye

46, ARTH AR RE Moryp,

47,

48.

49,

50,

. A PRINCIPAL 3y 3g., ﬁ;?%
d
ZLMDI "
(€) MUFQ (D) MEF}(ZL%
e it ATCH G 0,5 :
fow e oY T T By g
B) 1527,
(€) 122.7 m
frerferflaa & & FA-m ﬁmaw |
ey ST WA F T § Wﬂl{;
(A) uig frgr
(B) @rfiren firgia %
(D) Wi frgra 1
Frerfeflad 3 # w-w e ot g,
(A) T (B) Feore
(C) 9 (D) e s
I ErETerEt o e | A |
(A) aRemreEsT wf '
51. Ruwm A gy w7 ayeqmy R @I
e e % a3
TATHT Qaret 3 = a3 ¢ |
' 3T 9 1 g e b o o
A ary A &
* T, S & s 2
SR % a7t sy 2t 2 7
(&) By

() SULQFLSDO (g o ‘&N
1.6 x 10 O m B lmmuwm
(A) 142.7 m
(D) 1127y,
rﬁ%ﬁﬁ?ﬂ%ﬁmaﬁwm%“
(C) W@imﬁ
areta U da R R 7
ot arftrfaw, 2013 § wefm wia_
C) g
. it
%: Rt Ry, favadt, G, e, B
; aﬁi'ﬁ
* TR it e 3 ot i R
O, R 35y <y e W R
C) oy

. s
ez “
#eL S . d
F £ L 1 J s = J
S = i e g S .
. ey, = O
R W ol SN T T
R A e A T L

52.

53,

54,

55.

56.

37.

S8.

59.

60.

Inar
and N
{8 twe
boys
(A) 1
(C) ]

If 28
(A) |
(C)
This
to Q
(A)
(C)
Corr
1,3
(A)
(C)



8 b

52,

53.

54,

65.

56.

57.

58.

59,

60.

In a row of boys, Akash is fifth from the !

. . ; 5h i eft
Iant;l lel}il 18 eleventh from the right, If Akash
1§ twentififth from the right, then how many
boys are there between Akash and Nikhil ?

A) 13 (B) 15

(C) 12 (D) 14

If 2805 + 2,55 = 1100, then 280.5 + 25.5 = ?
(A) 1.1 (B) 1.01

(C) 11 D) 0.11

This Section of IPC deals with ‘Disobedience
to Quarantine Rule’

(A) 271 (B) 272 N
(C) 273 (D) 270 Eﬁ
Complete the series.

1.8 7 1390 7

(A) 29 (B) 31
(C) 33 (D) 27

One mole of a monoatomic gas is mixed with
3 moles of a diatomic gas. What is the molar
specific heat of the mixture at constant
volume ?

9 3

(A) Z R (B) 7R
S

(C) R B ZF

When a process is to be executed, it has to
be loaded from the secondary storage to the
main memory. This is called

(A) Scheduling (B) Paging

(C) Sharing (D) Process loading

In a certain language, MONEY 1is coded as
68, RACE is coded as 85, then FUNGI will be

coded as
(A) 79 (B) 83
(C) 85 (D) 78

In a hospital, there is a consumption of 1350
litres of milk for 70 patients for 30 d_ays‘
How many patients will consume 1710 litres

of milk in 28 days ?

(A) 85 (B) 95

(C) 105 (D) 59

Find the missing term in the following series,
2,5, 10, 17, 26,
(A) 30 (B) 42
(C) 35 (D) 37

52.

B3.

54.

56.

57.

59.

60.

CMMS - 85

et # ok AR #, SR A & ot & ok
Prfeer and R mrewat & | 7R s A @ wefeat 8,

at sy ofyt i & i R Tes ¥ 7
(A) 13 (B) 15
(C) 12 (D) 14

af? 2805 + 2.55 = 1100, M 280.5+25.5="7
(A) 1.1 (B) 1.01 E%
€) 11 ) 01y EA

amrd ot ot Y - v v gy ' |
gaftra 7

(A) 271 (B) 272
(C) 273 (D) 270
sreger gl Y |
AT IR

(A) 29 (B) 31
(C) 33 (D) 27

o e T e w1 A B O fre A
3 Hret ¥ |y e s @ | Fraa e W s

N Ao i s aTR ?
9 3
(A) ER (B) IR
5
(C) R (D) zR

& T ST i freares Rt o R, O W@ el
Sy e I R |’

FEa 8 | i
(A) ‘élﬁdi&"l (B)
(C) it (D) NG afém

e fifR v #, MONEY &1 %2 68, RACE #1
%2 85, @ FUNGI® ____ ¥ ¥ § seag =7 |

(A) 79 (B) 83

(C) 85 (D) 78

ws areaare # 70 Uit & ferg 30 ot a6
1350 et gy A @ua e v | 28 A o
1710 wfiet gy faraw qfvat A woa av i ?
(A) 85 (B) 95

(C) 105 (DR.59
W@%¢@Eﬁwﬁmﬁ'
2,510, 17, 26, ____

(A) 30 (B) 42

(C) 35 (D) 37

M24



62.

63.

64.

67.

68.

M24

Incrcaaed Prices
(B) Low Start.
(C) Globa]

(D) 24/7 Access

Recently Ministry
transpor and
& 8cheme for

of

highways launched
“Good Sama

rtans” b, EI,.,
under which, g cash awarg of ]
Rs. will be Provided

(A) 2,000 (B) 5,000

C) 10,000 (D) 1,000

India : New Delhj : . G:rmany ' P

(A) Paris (B) Frankfu:'t

(C) Berlin (D) Munich

How many 5's gre there in ¢ followin
8€quence whijch &re preceded by 3 but not
lollowed by 8 ?
45&327351?&935331352

A) 3 (B) 2

(C) ] (D) 4

QPO, NML, k1 , EDC
(A) CAB (B) JKL
(C) GHI (D) HGF

(B) 22nd Scplcmbcr

(D) None of the aboye
If a, b, ¢, d, e are five con
numbers, their average {g
(A) abcde
5
(C) a+4

(E} 5{H+h+c+d+
(D) Sla + q)

€)

¢ advantage of E-Commerce P

S8ECUtive odd

61.

62,

63.

64,

67,

m*mi-mmmﬁ?ﬂt?
(A) =% g2 e

(B) &1 i sy

(C) 2ffrs e zomg

D) 24/7 T¢a (Y

B 8 4w, mmwmam
Hﬁhﬂ"%%ﬁ@ﬂmmﬁt,ﬁwmm
sdzm%mmarﬁaﬁmwﬁmﬁﬁyﬁm
F@wmmmﬁme
(A) 2,000 (B) 5,000
(C) 10,000 (D) 1,000
‘ﬂm:ﬂﬁﬁﬁ:.‘ﬂﬁ:ﬁ:?
(A) g (B) Sresd
(C) ufefs (D) =g
hﬁmmﬁﬁmﬁsimmmm
@rf&r-fa"rwrrqﬁawt? f
45332735178935331352 g
A) 3 (B) 2 ;
€) 1 (D) 4 H
ﬁﬁ%mﬁmﬂmmﬁmﬁl ’
QPO, NML, KJI, ., EDC
(A) CAB (B) UKL
(C) GHI (D) HGQFR f
a_____H_H‘ﬁ'f'qurrGﬁmh '
(A) 3 S (B) 22 fra i
©) 12 D) SmAdaim
‘-‘rﬁa,h,c,d_ gty T &, ) 3
Wﬂwt? © AT fyy g
A abgde B) Sa+b+c+d+e
€ avy (D) S(a + 4)
B PR U U ?
A :

v 8BS

L e e T



69. 4.5% of 800 + 0 50
9% of 64
(A) 12 O=2
(r::)J 11.25 B) 11,75
(D) 112 05
70. ;I:}c:ir%démnush joint exer
(A) xﬂn'r-EEt e Be €en Ing;
C) Air-to-ar™™  (B) A )
(C) Air-to-ajyr F-to-lang
D) None i
71. APMC Standg for °! these
(A) Agricultyrg) Polyh '
OMmmittee OUse Mang
(B) Agriculturg] .
Cm‘{“lmittee Pagation M&nagcmgnt
(C) Agr1cu§tura1 Pest Man
D) Agricuttes ement
Culturg] p
Committee . And Maricet
72, Ramesh started from :
South and travelled 5 km??:ﬁletn f}wtc:wards
TEAU and travelleq km, then he tﬁmeg
:E £ t ;ggﬂgﬂd"%l&d S km, then he turneél.?:ft
okt e km, How far was he from
(A) 17 km (B) 15 km
(C) 5 km (D) 7 km
73. The duratiqn of basie training course for
Coristables ig _
(A) 9 months (B) 15 months i
(C) 18 months (D) 6 months 5]
74,

75.

Fﬁl

'3

Pradhan Mantri Kisan Urja Suraksha evam
Utthaan Mahabhiyan (PM-KUSUM) Scheme

was launched by
(A) Ministry of Jalshakti

(B) Ministry of New and Renewable Energy

(C) Ministry of Social Welfare
(D) Ministry of Coal

PowerPoint provides a range of screen views

i | ion, They are
for creating a presentation T y ¢
(A) Both (B) and (C) (B) Slide Sorter
(C) Normal (D) None of the above

What is the new per transaction ;Emng
announced by RBI for Indo-Nep
Remittance ?
(A) Rs, 2 Lakh
(C) Rs. 3 Lakh

In a college, election b%t;ﬁe
one candidate got S ﬂwcr
votes. 15% of the votes

were 1520 | kg
ttl?'tﬂ?il?; T;tes the other candidate g

(A) 6840 (B) ;’;gg
(C) 5814 (D)

B) Rs. 4 Lakh
((D; None of the above

n two candidates,
Er the total valid
e invalid. If the

0. what 18 the number

-11-

69,

70,

71,

72.

73.

74,

785.

76.

77,

CMMS - g5
800 1 4,5% + 640 = 0.5% = ?
(A) 12 (B) 11,75
(C) 11.25 (D) 112.05
WA 3 7.3, % oty MY H avers 3
(A) &g & 3= (B) arg & wfy
(C) Ay & amy

forg A @ et g o 7

(A) 17 fEht (B) 15 fipmh

(C) 5 fenrft (D) 7 Rt

IR 3 AT RIS rarrsp <) vy &
(A) 9 TR (B) 15 WTe

(€) 1877 (D) 6 g

ST foheT Fert e o s e
(T -FG0) I g ge |
(A) SRy wTer |

(B) 7 T Fefvrofta ert ey

(C) TR e Hrery

(D) HIeT HTery

| R T ¥ Ry e qudt €
mﬁmmmm s

A) (B) 3 ()@t (B) wemgs |tk
{[C) (D) 3% o & Y el

v -Aure % g am e, g v o oy
SR St efterr e @ 7

(A) § 2 ¥@ (B) §. 4 ©1@
(C) & 3vW (D) e & i T

&t Ieftaml & st o wies & g ¥, O anitEn

%Y et AU R 55% WIS §IAT | 15% & WAl Ay
Oj |Tﬁ3ﬁnﬂ15200 o, T o1 Il i et Ay
Tt <t e et R 7

(A) 6840
(C) 5814

(B) 7106
(D) 8360

M24
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78,
3. S
—
>
P’v-
\
G
Vo
1 I“H-I;
L
13
':.l_..ﬁ.
15
\
‘a__
xl !
o 80.
—
.'r,—\-'
—t
= 81.
Z,
82.
e
e
£
83,
34'

aubstitumd by which

Vernalisation 18
treatment 7

(A) Ethylene
(B) Gibberellin
(C) Auxins

(D) Cytokinin
owing gtatements about

Consider the foll o Trls:

: ; ‘mation
Poverty line estim nee level or

. In India, a subsiStENCE =25, L ent
: d require '
minimur level of o0 re'gUirementa

lothing, fuel, medical s
Elc., m-g determined for estimating th

poverty line. —
11. The accepted average calo
requirement in India 18 2400 calories

| areas an
per person per day in rura
2100 calories per person per day in

urban areas.
Choose the right option given below.
(A) Only the statement (II) is correct
(B) Both the statements (I) and (II) are
correct

(C) Both the statements (I) and (II) are
incorrect

(D) Only the statement () is correct

Find the missing number,

963 2 844
464 ? 903
(A) 2 (B) 25
(C) 66 (D) 1
The sum of all odd
v numbers between 200
(A) 25100 (B) 51200
(C) 12500 (D) 25000
Exoskeleton of cockrog
plates called e nardened
(A) SCIE:]’”,E (B) Chﬂndratin
(C) Cuticle (D) Chitin
The parameter used tg re
as Hotspot is “oenize a FBin
(A) Species evennegg (B) Area
(C) Shape of habitat (D) Endemj
8Sm
Which among the follow: :
most diversity ? SR Species has
(A) Mammalia B) | :
(C) Fishes [[D; Lungi. :
Mphibian
-12.

79.

80.

81.

32-

83.

84,

e et @ % aﬂw%aﬁﬁmw

qt e AL |
Y mﬁﬂﬂ‘ﬁ"li‘@‘m aﬂqmm%
m,ﬁmﬁw&m,m,m
Rrfereen amrarzasRaTadi o % Fiaty
qr = = & vl e amn g

i1, Wﬁ@ m%ﬁﬂ%
wﬁgﬁraﬁﬁﬁmmwm
e it 3 it sty 7fdt 7 2100 gy

P & & Tt Rreed &1 s 8
(A) aet w0 (1) T8 R

(B) e (1) 3R (II) 3 wreh &

() e (1) 3T (11) At weh et §
(D) Fael U (I) T 8

T ET T R, |

(A) 2 (B) 25
(C) 66 (D) 1
200 3 300 ¥ st ot ey wrraed wamt
(A) 25100 (B) 51200
(C) 12500 (D) 25000
m%mﬁm@mﬁ
A) i (B) FRRA
e, N (D) fafem
8 @m%mﬁqgaﬂﬁﬁiﬁﬂm
O o T (g

) ST ) MHER (D) wenfrewd
"R S - e s AR
) W (B) FaF
(C) TSl

(D) IVF=N

*40]

(Ta]
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85. Inward Foreign Dire ot v
(A) Not generate jobg
(B) Takes E-W&},F. jobs
(C) Stop existing jobg
(D) Generate jobs

tment (Fpy)

86.

I In our country

21 years and
election,

II. Some criminals and persons with
unsound mind can be denied the right
to vote, but only in rare situationg "

Choose the right option given below,

(A) Only the statement (1) is c:c-rreclt

(B) Both the statements (I) and (11)
correct

(C) Both the statements (I) and (II) are
incorrect

(D) Only the statement (I) is correct

are

87. Who among the following having sole

authority to issue banknotes in India ?
(A) State Bank of India

(B) Reserve Bank of India

(C) Government of India

(D) None of the above

88. Consider the following statements about

web portal e-GOPALA. | |
I. It has been launched by National Dairy

Development Board [N];)DB].
[1. It let farmers manage 11vels.tnck |
including buying and selling of disease-
free germplasm in all forms.
Choose the right option given bdel?;u.am
(A) Both the statements (I) and { )

correct _
(B} Only the statement (1) 18 correct

(C) Only the statement (1) is correct
(D) None of the above

s than
89, Aliphatic amines ar¢ stronger base

" ammonia due to _ of alkyl groups.
(A) - E effect (B) -1 effect

T

CMMS - 85

85, ot areh Ryl yere Fam (ok a1

(A) U= g Tt e B

(B) TSI & Frel R

(C) HSET AT Y Ak et B

(D) TSR G Tt 8

86. AR WM 0 Y fRu T weer st % AR
fr=rfafas weumt o femm =t |

[ TaR AN A, 21 o ol e wfirer amg & @l
cluitedecich:RneecaEc Tl i

11, AR et geiw frfemt o o srmdl o
v o =met =nfFat w0y Ae 3 % iR
Y gfera foman s wewen ¥

Fr=fafes § 8 ad fererea 1 =37 =i

NEEEECoINE: R

(B) A (1) 3 (1) 21 T &

(C) YA (1) IR (1) I W &

(D) Fae Hud (1) 9 R

87. fraferfiga 1 fores urg wid 1 o A S FE =
T SARER R ?
(A) WEY W =&
(B) e T &=
(C) ARd THK
(D) ITUF ¥ | FIR AR

88. 9 U 3-mutel % gy o f=feiad SRt | fa=m
I, |
I 98 U o foe &€ (NDDB) B0 i feha Tt |
1. T8 Hweh! o wft T # Wigerd s s Tl
3fft S witd TYHE TEEH FA @R |
frafafian 8 @ v g s & |
(A) U (1) 3T (11) I e 3

(D) S ¥ § i T

wRF I srese wE AR |

AR howell
1 (C) + 1 effect (D) + E eli¢
- ts in India i8

*High Cour
Eﬂtal number of E(B) 05

(D) None of the above

(A) - E S (B) - 1 IVTE
(C) + 1 A& (D) + E AW
90, WIE ¥ I ~TEr} Y e e ¥
(A) 21 B) 25
l (C) 23 (D) S0 o & g e

-13-

go. Wt anftvw, iR @ svfRre wiwrelh am &,
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91.

English Language e
lowing :
Give one-word substitute for the !'t;L .
ive . !
Holding fast or keeping firm ho

object or principle. %
(A] Teetotaller
(B) Tenacious
(C) Tendency
(D) Tactile

! ds from
Fill in the blank with appropriate wor

92. . |
the alternatives given below it.

I'did not give him butter,
i (A) fewer

@E (B) a few

B&L (o) any
(D) some

3. Choose the right antonym of the word given
In Capital letters from the alternatives given
below jt.
TAINTED
(A) Failure (B) Bold
(C) Bigotry (D) Pure

94. In this question, there are four alternativeg
following a worg or phrase given as the key |
term. One of the alternatives best explains
the meaning of that word or Phrase, Spot
the correct alternative. !
Wily
(A) Cunning (B) An
(C) Wise (D) Stupid

95. In the following dUEslion g ge

been given in
of the four given E:Jlr:rn&!.ivtﬁ. S
which best EXpresses (he sam
Indirectﬂ.n.r't:c!

“How Clever of YOU 10 haye 80lved

80 quick]y!” Bald |he Masler,

(A) The masier shouted 1hg, }
the puzzle s, quickly.

(B) The Master

BO|vedd Clever)y ,
(C) The naster expregyed tha

(D) The Mabler ExClaimed wiip 4pplayg,e

Wab very clever ol him g hay

Solved (), puzzle wg quickly,

98, mqﬁamﬁﬁm%?

(A) wmwmﬁmmmm%m
“ar 'ﬂ'wﬁwmﬁiﬂmﬁ

'[I.'r' v




